

6.4 (ii)  $Q, S \subseteq \mathbb{R}_4[x]$

Basis  $Q \therefore \alpha = (f_1, f_2, f_3)$ , wobei

$$f_1 = x^2 - 3x + 2$$

$$f_2 = x^3 - 7x + 6$$

$$f_3 = x^4 - 15x + 14$$

$$S = \{g(x) \mid g(x) = g(-x)\}$$

$$B = (g_1, g_2, g_3)$$

$$g_1 = 1, g_2 = x^2$$

$$g_3 = x^4$$

$$\underline{a_4}x^4 + a_3x^3 + a_2x^2 + a_1x + \underline{a_0} \in S$$

$$\underline{a_4}x^4 - a_3x^3 + a_2x^2 - a_1x + \underline{a_0} \Rightarrow 2a_3x^3 + 2a_1x = 0$$

$$\Rightarrow a_3 = a_1 = 0$$

6.5 Spätere  $Q \cap S$

$$v(x) \in Q \cap S \Leftrightarrow$$



$$v(x) = a_1 f_1 + a_2 f_2 + a_3 f_3 = b_1 g_1 + b_2 g_2 + b_3 g_3$$

$$a_1 \begin{pmatrix} 0 \\ 0 \\ 1 \\ -3 \\ 2 \end{pmatrix} + a_2 \begin{pmatrix} 0 \\ 1 \\ 0 \\ -7 \\ 6 \end{pmatrix} + a_3 \begin{pmatrix} 1 \\ 0 \\ 0 \\ -15 \\ 14 \end{pmatrix} - b_1 \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \\ 1 \end{pmatrix} - b_2 \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \\ 0 \end{pmatrix} - b_3 \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} = 0$$

$$\begin{pmatrix} 0 & 0 & 1 & 0 & 0 & -1 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ \textcircled{1} & 0 & 0 & 0 & -1 & 0 \\ -3 & -7 & -15 & 0 & 0 & 0 \\ 2 & 6 & 14 & -1 & 0 & 0 \end{pmatrix} \Rightarrow 3$$

$$\sim \begin{pmatrix} 1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 0 & 1 & 0 & 0 & -1 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & -7 & -15 & 0 & -3 & 0 \\ 0 & 6 & 14 & -1 & 2 & 0 \end{pmatrix}$$

$$\sim \begin{pmatrix} 1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 0 & 1 & 0 & 0 & -1 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & -15 & 0 & -3 & 0 \\ 0 & 0 & 14 & -1 & 2 & 0 \end{pmatrix}$$

$$\sim \begin{pmatrix} 1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & -1 \\ 0 & 0 & 0 & 0 & -3 & -15 \\ 0 & 0 & 0 & -1 & 2 & 14 \end{pmatrix}$$

$a_1, a_2, a_3, b_1, b_2, b_3$

$$\begin{pmatrix} 1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & -1 \\ 0 & 0 & 0 & 1 & -2 & -14 \\ 0 & 0 & 0 & 0 & 1 & 5 \end{pmatrix}$$

$b_3 = p \in \mathbb{R}$   
 $b_2 = -5p$   
 $b_1 = 4p$   
 $a_3 = p$   
 $a_2 = 0$   
 $a_1 = -5p$

$\dim(Q_{15}) = 1$

$b_1 - 2(-5p) - 14p = 0$   
 $b_1 - 4p = 0$   
 $b_2 + 5p = 0$

$\bullet v(x) = -5p f_1 + p f_3 =$   
 $= p(-5f_1 + f_3) = p(x^4 - 5x^2 + 4)$

Zároveň:  $Q \cap S$  je generovaný  
polynomem  $x^4 - 5x^2 + 4$ .

↳ báze  $Q \cap S$

$$\underbrace{\dim Q}_{3} + \underbrace{\dim S}_{3} = \underbrace{\dim(Q+S)}_{5} + \underbrace{\dim(Q \cap S)}_{1}$$

$$\boxed{Q+S = \mathbb{R}_4[x]} \Leftarrow \dim \mathbb{R}_4[x]$$

7.1:  $v_1 = (1, 1, 1, 1) \in \mathbb{R}^4$   
 $v_2 = (1, 0, 0, 3)$   
 $\rightarrow v_3 = (1, 2, 1, 0)$   
 $O = \langle w_2, w_3 \rangle = \langle w_1, w_2 \rangle = \langle w_1, w_3 \rangle$   
+j. ortogonální báze.

$V = \langle v_1, v_2, v_3 \rangle$   
Chceme bázi:  
 $\alpha = (w_1, w_2, w_3)$  +j.

$$\boxed{w_1 := v_1 = (1, 1, 1, 1)}$$

$$w_2 := v_2 + av_1, \quad a \in \mathbb{R} \text{ splňuje}$$

$$\langle w_2, w_1 \rangle = \langle v_2 + av_1, v_1 \rangle = 0$$

$$\langle v_2, v_1 \rangle + \langle av_1, v_1 \rangle = 0$$

$$\langle v_2, v_1 \rangle + a \langle v_1, v_1 \rangle = 0$$

$$4 + 4a = 0$$

$$a = -1$$

$$W_2 = v_2 - v_1 = (0, -1, -1, 2)$$

$$a, b \in \mathbb{R}$$

$$W_3 = v_3 + a v_1 + b v_2$$

$$\langle W_3, W_1 \rangle = \langle v_3 + a v_1 + b v_2, w_1 \rangle = 0$$

$$\langle W_3, W_2 \rangle = \langle v_3 + a v_1 + b v_2, w_2 \rangle = 0$$

$$\langle W_3, W_1 \rangle = \langle v_3, v_1 \rangle + a \langle v_1, v_1 \rangle + b \langle v_2, v_1 \rangle = 0$$
$$4 + 4a + 4b = 0$$

$$a + b + 1 = 0$$

$$\langle W_3, W_2 \rangle = \langle v_3, w_2 \rangle + a \langle v_1, w_2 \rangle + b \langle v_2, w_2 \rangle = 0$$
$$-3 + 0 + 6b = 0$$

$$2b - 1 = 0 \quad b = \frac{1}{2}$$

$$a = -\frac{3}{2}$$

$$W_3 = v_3 - \frac{3}{2} v_2 + \frac{1}{2} v_1$$

$$= (1, 2, 1, 0) - \frac{3}{2} (1, 1, 1, 1) + \frac{1}{2} (1, 0, 0, 3)$$

$$= (0, \frac{1}{2}, -\frac{1}{2}, 0)$$

$$W_3 = (0, \frac{1}{2}, -\frac{1}{2}, 0)$$

$B = \langle u_1, u_2, u_3 \rangle$  orthonormal basis

norm:  $\|u_i\| = \sqrt{\langle u_i, u_i \rangle} = 1$

$u_1 := c_1 w_1, \quad c_1 \in \mathbb{R}, \quad c_1 > 0$

$\|u_1\| = \|c_1 w_1\| = |c_1| \cdot \|w_1\| = 1 \Rightarrow c_1 = \frac{1}{\sqrt{4}}$

$u_1 = \left( \frac{1}{2}, \frac{1}{2}, \frac{1}{2}, \frac{1}{2} \right)$

$\sqrt{1+1+1+1} = \sqrt{4} = 2$

$u_2 = c_2 w_2, \quad c_2 > 0$

$\|u_2\| = c_2 \|w_2\| = c_2 \cdot \sqrt{6} = 1$

$c_2 = \frac{1}{\sqrt{6}} = \frac{\sqrt{6}}{6}$

$u_2 = \left( 0, -\frac{1}{\sqrt{6}}, \frac{1}{\sqrt{6}}, \frac{1}{\sqrt{6}} \right)$

$u_3 = c_3 w_3, \quad c_3 > 0$

$\|u_3\| = c_3 \|w_3\| = 1 \Rightarrow c_3 = \frac{2}{\sqrt{2}} = \sqrt{2}$

$\sqrt{\frac{1}{4} + \frac{1}{4}} = \sqrt{\frac{2}{4}} = \frac{\sqrt{2}}{2}$

$u_3 = \left( 0, \frac{\sqrt{2}}{2}, -\frac{\sqrt{2}}{2}, 0 \right)$

$$7.2. \Psi: \mathbb{R}_3[x] \rightarrow \mathbb{R}^2$$

$$\Psi(f) = (f(1), f(2))$$

Обобщено:  $\Psi: V_1 \rightarrow V_2$

базис  $\alpha_1$

базис  $\alpha_2$

$$(\Psi)_{\alpha_2, \alpha_1} = \left( (\Psi(v_1))_{\alpha_2} \quad (\Psi(v_2))_{\alpha_2} \quad \dots \quad (\Psi(v_k))_{\alpha_2} \right)$$

тип  $n \times k$

матрица лине. зоб.

$\Psi$  н базис  $\alpha_1$  до

$$\alpha_1 = (v_1, \dots, v_k)$$

базис  $\alpha_2$

$\rightarrow \dim V_1$

$\rightarrow \dim V_2$

$$\alpha_2 = (w_1, \dots, w_e)$$

$$\Psi: \mathbb{R}_3[x] \rightarrow \mathbb{R}^2$$

$$\Psi(f) \mapsto (f(1), f(2))$$

$$\alpha_1 = (x^3, x^2, x, 1)$$

$\leftarrow e, e$

$$\alpha_2 = ((1, 0), (0, 1))$$

$$(\Psi(x^3))_{\alpha_2} = (1, 8)_{\alpha_2} = (1, 8)$$

$$(\Psi(x^2))_{\alpha_2} = (1, 4)_{\alpha_2} = (1, 4)$$

$$(\varphi(x))_{\alpha_2} = (1, 2)_{\alpha_2} = (1, 2)$$

$$(\varphi(1))_{\alpha_2} = (-1, 1)_{\alpha_2} = (-1, 1)$$

$$(\varphi)_{\alpha_2, \alpha_1} = \begin{pmatrix} 1 & 1 & 1 & 1 \\ 8 & 4 & 2 & 1 \end{pmatrix}$$

(a)  $\varphi: \mathbb{R}^3 \rightarrow \mathbb{R}^3$  lin. z ob

$$\varphi(1, 0, 1) = (0, 1, 0)$$

$$\rightarrow \varphi(0, 1, 0) = (0, 0, 1)$$

$$\rightarrow \varphi(0, 0, 1) = (1, 0, 1)$$

$$\begin{aligned} \varphi(a_1 v_1 + a_2 v_2) &= \\ &= a_1 \varphi(v_1) + a_2 \varphi(v_2) \\ &\text{linearity} \end{aligned}$$

Std. base  $E = \{(1, 0, 0), (0, 1, 0), (0, 0, 1)\}$

$$(1, 0, 0) = (1, 0, 1) - (0, 0, 1)$$

$$\varphi(1, 0, 0) = \varphi((1, 0, 1) - (0, 0, 1))$$

$$= \varphi(1, 0, 1) - \varphi(0, 0, 1)$$

$$= (0, 1, 0) - (1, 0, 1) = (-1, 1, -1)$$

$$\varphi(0, 1, 0) = (0, 0, 1)$$

$$\varphi(0, 0, 1) = (1, 0, 1)$$

$$(\varphi)_{E,E} = \begin{pmatrix} -1 & 0 & 1 \\ 1 & 0 & 0 \\ -1 & 1 & 1 \end{pmatrix}$$

Jimmy postup:  $E = \dots$   
 $\alpha = \{(1, 0, 1), (0, 1, 0), (0, 0, 1)\}$

$$(\varphi)_{\alpha, \alpha} = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}$$

matrice inversi  
matrice

$$(\varphi)_{\epsilon, \epsilon} = \underbrace{(\text{id})_{\epsilon, \kappa}}_{\text{matrice priobolok } \kappa \text{ do } \epsilon} \cdot (\varphi)_{\alpha, \alpha} \cdot \underbrace{(\text{id})_{\alpha, \epsilon}}_{\text{matrice priobolok } \epsilon \text{ do } \alpha}$$

matrice priobolok  $\kappa$  do  $\epsilon$       matrice priobolok  $\epsilon$  do  $\alpha$

$$(\text{id})_{\epsilon, \alpha} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{pmatrix}$$

$$(\text{id})_{\alpha, \epsilon} = \left( (\text{id})_{\epsilon, \alpha} \right)^{-1} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ -1 & 0 & 1 \end{pmatrix}$$

$$\begin{aligned} (\varphi)_{\epsilon, \epsilon} &= \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{pmatrix} \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ -1 & 0 & 1 \end{pmatrix} \\ &= \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ -1 & 0 & 1 \end{pmatrix} = \begin{pmatrix} -1 & 0 & 1 \\ 1 & 0 & 0 \\ -1 & 1 & 1 \end{pmatrix} \end{aligned}$$

$$(b) \quad (\varphi)_{\epsilon, \epsilon} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$



$$\text{not } \varphi(a, b, c) = (a, b, 0)$$